Anbauhinweise fir Crash Ball Kit Triumph Daytona 675 Art.Nr.: 552T037/45...

Das Crash Ball Kit wird auf den rechten Motordeckel montiert!
Wichtig: wenn Sie kein ausgebildeter Mechaniker sind, wenden Sie sich an eine Fachwerkstatt!

Flachkopfschraube M6x35
(Anzugsdrehmoment: 10Nm)

2x Buchse @12x5 zwischen
Flachkopfschraube M6x30 Adapterplatte und Motordeckel

'(\'16’(30 droh t 9Nm) (Anzugsdrehmoment: 9Nm) montieren
nzugsdrehmoment: 9Nm

N

LSL-Motorradtechnik GmbH « D-47809 Krefeld
www.Isl.eu

Rev. 01 07/08/2009



Mounting Instruction Crash Ball Kit Triumph Daytona 675 Part.No.: 552T037/45...

The Crash Ball kit has to be mounted on the right engine cover!
Important: If you are not a trained motorcycle mechanic stop now! Ask a local motorcycle shop to do the work

for you!

flat head screw M6x35
(Tightening torque: 7.38Ibf ft)

ﬁE— -/ mount the spacers @12x5
M6x30 flat head screw M6x30 between adapter-plate and
(Tightening torque: 6.62Ibf ft) (Tightening torque: 6.62Ibf ft) engine cover

_— N

LSL-Motorradtechnik GmbH ¢ D-47809 Krefeld
www.Isl.eu

I

Rev. 01 07/08/2009



Instructions de montage du kit Crash Ball pour Triumph Daytona 675 NC°art.: 552T037/45...

Le kit Crash Ball se monte sur le recouvrement moteur droit!
Important: Le montage doit &tre fait par un professionnel!

Vis a téte plate M6x35
(couple de serrage: 10Nm)

2x entretoises @12x5 a

Vis a téte plate M6x30 monter entre la plaque
Méx30 (couple de serrage: 9Nm) d'adaptation et le
(couple de serrage: 9Nm) recouvrement moteur

_— N

LSL-Motorradtechnik GmbH « D-47809 Krefeld
www.Isl.eu

Rev. 01 07/08/2009



i

LSL-Motorradtechnik GmbH  D-47809 Krefeld

www.lsl.eu



